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HW . A shopkeeper marked the price of an article 25% above the cost price and allowed two 
successive discounts of 15% and 24% respectively to a particular customer. As a result, he incurred 
a loss of Rs. 462. At what price did he sell the item to customer?
एक दकुानदार ने एक वस्तु की कीमत लागत मूल्य से 25% अधिक अंककत की और एक 
ववशेष ग्राहक को क्रमशः 15% और 24% की दो क्रधमक छूट की अनुमधत दी । नतीजतन, 
उसने रु. 462 का नुकसान उठाया। उसने ग्राहक को वस्तु ककस मूल्य पर बेची?

(A) 2000 (B) 1928 (C) 1948 (D)1958 (E)1938
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What value should come in the place of question mark(?)in the following questions?

Q.1:- √5625 + √6084 − 29 = ?

(A) 127 (B) 124 (C) 125 (D) 130 (E) None of these
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What value should come in the place of question mark(?)in the following questions?

Q.2:- 125% of 90 × 24% of 900 = ?

(A) 14800 (B) 21700 (C) 31200 (D) 27300 (E) None of these

http://www.mahendras.org/


FOR MORE DISCOUNT VISIT www.mahendras.org & USE PROMO CODE : E04613

What value should come in the place of question mark(?)in the following questions?

Q.3:- 7834 + 564 − 1849 + 1731 ÷ 3 = ?

(A) 6256 (B)7084 (C) 7126 (D) 7245 (E) None of these
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What value should come in the place of question mark(?)in the following questions?

Q.4:- 244 ÷ 4 × 15 + √ 3136 = ?

(A) 973 (B) 917 (C) 951 (D) 961 (E) None of these
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What value should come in the place of question mark(?)in the following questions?

Q.5:- 560 ÷ 8÷ 2 = 340 − ?

(A) 350 (B) 305 (C)360 (D) 315 (E) None of these
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What value should come in the place of question mark(?)in the following questions?

Q.6:- 616 ÷14 × 6 − 8 = (?)²

(A) 3 (B) 2 (C)4 (D) 5 (E) None of these
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What value should come in the place of question mark(?)in the following questions?

Q.7:- 12³ + 75% of 640 = ?

(A) 2208 (B)2280 (C)2288 (D) 2108 (E) None of these
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What value should come in the place of question mark(?)in the following questions?

Q.8:- 35% of 430 + ?% of 360 = 276.5

(A)30 (B) 25 (C)45 (D)15 (E) None of these
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What value should come in the place of question mark(?)in the following questions?

Q.9:- 3.6 + 36.6 + 3.66 + 0.36 + 3.0 = ?

(A) 44.22 (B)77.22 (C)74.22 (D) 47.22 (E) None of these

http://www.mahendras.org/


FOR MORE DISCOUNT VISIT www.mahendras.org & USE PROMO CODE : E04613

What value should come in the place of question mark(?)in the following questions?

Q.10:- 96 + 32 × 5 − 31 = ?

(A) 223 (B) 225 (C)229 (D) 221 (E) None of these
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What should come at place of the question mark (?) in the following number series ?

Q.11:- 46 , 34 , 58 , 46 , ? , 58

(A)70 (B)60 (C)2 (D)94 (E) None of these
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What should come at place of the question mark (?) in the following number series ?

Q.12:- 18, 19 , 21 , 30, 34 , ? 

(A)59 (B) 61 (C)37 (D)44 (E) None of these
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What should come at place of the question mark (?) in the following number series ?

Q.13:- 120 , 720 , 144, 576 , 192 , ?   

(A) 192 (B)384 (C)96 (D) 146 (E) None of these

http://www.mahendras.org/


FOR MORE DISCOUNT VISIT www.mahendras.org & USE PROMO CODE : E04613

What should come at place of the question mark (?) in the following number series ?

Q.14:- 7, 14 , 42, ?, 1470 , 16170 

(A)210 (B)420 (C)168 (D)320 (E)None of these
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What should come at place of the question mark (?) in the following number series ?

Q.15:- 3, 8, 27 , 112 , 565 , ?

(A)3396 (B)3390 (C)3142 (D)3024 (E)None of these
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20 . Seven years ago, the ratio of the age of A to that of B, was 5: 9. C is 12 years older than A and 12 
years younger than B. What is C’s present age?
सात वषष पहले, A की आयु का B से अनुपात 5: 9 था । C, A से 12 वषष बडा है और B से 12 
वषष छोटा है। C की वतषमान आयु क्या है?

(A) 47 years (B) 49years (C)41years (D)43years (E)54years

E04613
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(A) 4 liters (B)5 liters (C)6 liters (D) 8 liters (E)None

E04613

26 . A mixture of 40 liters of milk and water contains 10% water. How much water should be 
added to this mixture so that the new mixture contains 20% water?
40 लीटर दूधऔर पानी के मिश्रणिें 10% पानी है। इस मिश्रणिें मकतना पानी मिलाया जाना
चामहए मकनए मिश्रणिें 20% पानी हो?
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(A) 86 km. (B) 72 km. (C) 94 km. (D)96 km. (E)None

E04613

27 . A father and his son start a point P with speeds of 16 km/hr. and 24 km/hr. respectively 
and reach another point Q. If his son starts 60 min after his father at P and reaches Q 60 
min. before his father, what is the distance between P and Q?
एक मपताऔर उसका पुत्र एक म िंदु P को 16 मकिी/घिंटा की गमत से शुरूकरते हैं।और 24 
मकिी/घिंटा।क्रिशः और दूसरे म िंदुQ पर पहुँचता है। यमद उसका पुत्रअपने मपता से P पर 60 
मिनट  ाद चलना शुरूकरता हैऔरQ 60 मिनट पर पहुँचता है। अपने मपता से पहले, PऔरQ के
 ीचकी दूरी मकतनी है?
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(A)11
𝟐

𝟕
days (B) 11

𝟑

𝟕
days (C)13

𝟐

𝟕
days (D) 11

𝟏

𝟕
days (E)None
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28 . If 1 man or 2 women or 4 boys can do a piece of work in 20 days. Then 1 man, 1 woman 
and 1 boy, working together can do it in-
यमद 1 पुरुष या 2 िमहलाएिं या 4 लड़के मकसीकायय को 20 मदनो िं िें कर सकते हैं। मिर 1 पुरुष, 1 
िमहलाऔर 1 लड़का, एकसाथकािकरते हए इसे करसकते हैं-
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(A) 4% (B)3% (C)2% (D)1.5% (E)None

E04613

29 . In respect of a bill of Rs. 40000 what is the difference between a discount of 36% and 
two successive discounts of 25% and 12%?
40000 रुपये के म ल के सिं िंध िें 36% की छूटऔर 25% और 12% की दो क्रमिक छूटो िं के  ीच
अिंतरक्या है?
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(A)56 days (B)48 days (C)64 days (D)72 days (E)None

E04613

30 . P is thrice as good a workman as Q . They together can do a job in 16 days, In how 
many days will Q finish the work? 
P, Q से तीन गुना अच्छाकािकरने वाला है। वे एकसाथ एककािको 16 मदनो िं िें कर सकते हैं, Q 
कािको मकतने मदनो िं िें पूरा करेगा?
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(A)1560 loss (B) 1560 profit (C)1550 loss (D) 1550 profit (E)None

E04613

31 . Rekha bought an article in Rs. 62000 and sold it at 25 percent loss. From this amount 
she bought another article and sold it at 30 percent profit. What is her total profit/loss?
रेखा ने एक वसु्तको 62000 रुपये िें खरीदाऔरउसे 25 प्रमतशत हामन पर  ेच मदया। इस रामश से
उसने एकऔरवसु्तखरीदीऔरउसे 30 प्रमतशतलाभ पर  ेच मदया। उसका कुललाभ/हामनक्या
है?
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(A) 3:4 (B) 4: 3 (C) 9: 11 (D)11: 9 (E)None

E04613

32 . The cost of a table and chair in the ratio 5 : 7. If the cost of chair and table is increased 
by 10% and 20% respectively then what will be the new ratio respectively?
एक िेजऔर कुसीका िूल्य 5 : 7 के अनुपात िें है। यमद कुसीऔर िेजकी लागत िें क्रिशः 10% 
और 20% की वृद्धिकी जाती है, तोक्रिशः नया अनुपातक्या होगा?
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Q.26:- I. 12x² + 7x + 1 = 0 II. 2y² + 3y + 1 = 0

(a) If x = y or no relation can be established 

(b) If x > y 

(c) If x < y 

(d) If x ≥ y 

(e) If x ≤ y
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Q.27:- I. x2 + 3x+ 2 = 0 II. y2 + 5y+ 6 =0

(a) If x = y or no relation can be established 

(b) If x > y 

(c) If x < y 

(d) If x ≥ y 

(e) If x ≤ y
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Q.28:- I. 15x2 – 16x + 4 = 0 II. 6y2 − 25y− 25=0

(a) If x = y or no relation can be established 

(b) If x > y 

(c) If x < y 

(d) If x ≥ y 

(e) If x ≤ y
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Q.29:- I. 2x2 − 5x – 3 = 0 II. 4y2− 20𝑦 + 21 =0

(a) If x = y or no relation can be established 

(b) If x > y 

(c) If x < y 

(d) If x ≥ y 

(e) If x ≤ y
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Q.30:- I. x² = 9 II. 𝒚𝟐= 4

(a) If x = y or no relation can be established 

(b) If x > y 

(c) If x < y 

(d) If x ≥ y 

(e) If x ≤ y
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Directions (Q. 31-35):-Read the following graph carefully and answer the questions 

given below- Number of factories of various industries in India and China

मनम्नमलद्धखत ग्राि को ध्यानपूवयक पम़िएऔर नीचे मदए गए प्रश्ो िं के उत्तर दीमजए-भारतऔर

चीन िें मवमभन्न उद्योगो िं के कारखानो िंकी सिंख्या
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(A) 20 (B) 16 (C) 12 (D)8 (E)24

E04613

31. The number of Sugar industries in India is approximately what percentage of the total 
number of all industries in the same country?
भारत िें चीनी उद्योगो िंकी सिंख्या एक ही देश िें सभी उद्योगो िंकी कुल सिंख्याका लगभग मकतना
प्रमतशत है?
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(A)62 (B)70 (C)73 (D)59 (E)67

E04613

32. The number of cotton industries in China is approximately what percentage of the total 
number of cement industries in India?
चीन िें कपासउद्योगो िंकी सिंख्या भारत िें सीिेंट उद्योगो िंकी कुलसिंख्याका लगभग मकतना
प्रमतशत है?
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(A)5 tones (B) 8 tones (C) 11 tones (D)7 tones (E)None

E04613

33. If production of cement in India is 27000 tonnes and that in China is 15000 tonnes, what 
is the difference between their productivity (Productivity = Production/number of 
industries)? 
यमद भारत िें सीिेंट का उत्पादन 27000 टन हैऔरचीन िें 15000 टन है, तो उनकी उत्पादकता
(उत्पादकता = उत्पादन/उद्योगो िंकी सिंख्या) के  ीचक्याअिंतर है?
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(A)250 (B)150 (C)50 (D)75 (E)175

E04613

34. What is the difference between total industries in India and China?

भारतऔरचीन के कुल उद्योगो िं िें क्या अिंतर है?
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(A) 3:2 (B)2:3 (C)1:1 (D)2:1 (E) 1:2

E04613

35. If ratio of production of steel in India and China is 3 : 5 and production of steel in China 
is 1500 tones, what is the respective ratio of productivity of steel in India and China 
(Productivity = Production/number of industries)?
यमद भारतऔरचीन िें इस्पात के उत्पादनकाअनुपात 3:5 है और चीन िें इस्पातका उत्पादन
1500 टन है, तो भारतऔरचीन िें इस्पातकी उत्पादकताका सिं िंमधतअनुपातक्या है (उत्पादकता
= उत्पादन/उद्योगो िंकी सिंख्या)?
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THANKS
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